[image: image1.png]MULTIPLE CHOICE. Choose the one alternative that best completes the statement or answers the question.
‘Write a cost function for the problem. Assume that the relationship is linear.

1) A moving firm charges a flat fee of $40 plus $35 per hour. Let C(x) be the cost in dollars of 1)
using the moving firm for x hours.
A) Clx) =35x + 40 B) C(x) =40x + 35 C) Cx) =40x - 35 D) C(x) = 35x - 40
Use the echelon method to solve the system.
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[image: image2.png]Use the Gauss-Jordan method to solve the system of equations.
3) dx-y-2z=-12
7x - 6z=-17
Ty+ z= 60
A)(1,4,8) B)(1,84) Q) (-1,82)

Find the slope of the line.
4) y=6x-4
A)-6 B)6 o1

D) No solution
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[image: image3.png]Solve the problem.

5) A school library has $15,000 to spend on new books among the four categories of biclogy,
chemistry, physics, and mathematics. If the amount spent on biology books is to be the same as
the amount spent on chemistry books and if the amount spent on mathematics books is to be
the same as the total spent on chemistry and physics books, how can the money be distributed
among the four types of books? (Let x denote the amount spent on biology books, y the amount
spent on chemistry books, z the amount spent on physics books, and w the amount spent on
‘mathematics books. Let all amounts be in dollars, and let w be the parameter.)

A)x = 15,000 + w, y = 15,000 + w, z = w - 15,000, 2500 < w <7500

B)x =15,000 - 3w, y = 15,000 - 3w, z = 4w - 15,000, 5000 = w = 10,000
©)x = 15,000 - 2w, y = 15,000 - 2w, z = 3w - 15,000, 5000 < w <7500
D) x = 15,000 - w, y = 15,000 - w, z =2w - 15,000, 2500 = w <5000
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[image: image4.png]Graph the equation.
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[image: image5.png]Use the Gauss-Jordan method to solve the system of equations.
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-6x - 15y =45
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[image: image6.png]Use the Gauss-Jordan method to solve the system of equations.
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12) A metecrologist in the Upper Peninsula of Michigan predicts an overnight low of -4°
Fahrenheit. What would a Canadian meteorologist predict for the same location in Celsius?
A) 36 B)-20° 0 -22° D) -4

Write an equation for the line. Use slope-intercept form, if possible.
13) Through (7, 10), undefined slope
10

A)y=10 Bx=7 C)f%xuoy:o D)- 2070

Write the augmented matrix for the system. Do not solve.
14) 4x-2y =14

-2 0
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[image: image8.png]Solve the problem.
15) For some reason the quality of production decreases as the year progresses at a light bulb
manufacturing plant. The following data represent the percentage of defective light bulbs
produced at a light bulb manufacturing plant in the corresponding month of the year.

month(x) 2 3|5 |7 [8 |9 |12
% defective (y)| 13| 1.6]2-02-42-6[2.8.1

Use the equation of the least squares line to predict in which month the percentage of defective
light bulbs would be 1.83%.
A) February B)May Q) April D) March

16) Regrind, Inc. regrinds used typewriter platens. The cost per platen is $1.50. The cost to regrind
60 platens s $600. Find the linear cost function to regrind platens. I reground platens sell for
$9.50 each, how many must be reground and sold to break even?

A) C(x) = 150x + 510 B) C(x) = 1.50x + 600
break-even =12 break-even =9

Q) C(x) = 150x + 510 D) Clx) = 150x + 600
break-even = 64 break-even = 12

Computer, the coefficient of correlation.
17) Consider the data points with the following coordinates:
X 6 53 6 3 5 514 38
y[ 18 176 151 164 162 174 182
A)0 B) 7749 ©) -.0810 D).7537

Use the echelon method to solve the system of two equations in two unknowns.
18) 9x+8y

~6x -3y =48
A)E1) B)(8,0) Q)(7,1) D) No solution
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19) Linda invests $25,000 for one year. Part is invested at 5%, another part at 6%, and the rest at 8%.  19)
The total income from all 3 investments is $1600. The income from the 5% and 6% investments
is the same as the income from the 8% investment. Find the amount invested at each rate.
A) $10,000 at 5%, $5000 at 6%, $10,000 at 8% B) $8000 at 5%, $10,000 at 6%, $7000 at 8%
C) $10,000 at 5%, $10,000 at 6%, $5000 at 8% D) $5000 at 5%, $10,000 at 6%, $10,000 at 8%

Use the Gauss-Jordan method to solve the system of equations.
20) x- y+8z=-107 20)
x+2y 1
2x+y+82=-80
4)(5,8,-13) B)(5,8,7) 05,80 D) No solution





